Rolling

A wheel Is spinning clockwise such that the speed of
the outer rim is 2 m/s.

What Is the velocity of the top of the wheel relative to
the ground? + 2 m/s

What Is the velocity of the bottom of the wheel
relative to the ground? _9 /s

2 m/s

You now carry the spinning wheel to the right at 2 m/s.
What is the velocity of the top of the wheel relative to the ground?
A) -4 m/s B) -2 m/s C) 0 m/s D) +2m/s

What Is the velocity of the bottom of the wheel relative to the ground?

A) -4 m/s B) -2 m/s @ D) +2m/s E) +4 m/s
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